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Q. No. 1: Encircle the correct option:

1. Which is order of a square matrix?

a. 2-by-2 c. 2-by-1

b. 1-by-2 d. 3-by-2
2. If|2 6| =0thenx =

3 x

a. 9 b. -6 c. 6 . -9
3. [é (1) is called matrix.

a. Unit c. Diagonal

b. Scalar d. None
4. (E)-llz —

a. 5/4 b. 4/5 c. -5/4 . -4/5
5. Write 4% with radical sign:

a. V42 b. V43 c. V43 . V4
6. The value of 9 is

a. 1 b. -1 c. | —i
7. If ax =n, then

a. a= log,n c. x= log,n

b. x = log, a d. a= log, x
8. The logarithm of unity to any base is

a. 1 b. 10 c. -1 . 0
9. 4x + 3y — 2 is an algebraic

a. Expression c. Equation

b. Sentence d. Inequation
10. Loge = where e =~ 2.718

a. 0 b. 0.4343 c. 00 .1
11. The degree of polynomial 4x* _ 2x%y is

a. 1 b. 2 c. 3 .4
12. A%+ Db3is =

a. (a-b)(@®+ab+b? c. (atb)(a*-ab+b?

b. (a-b)(a*-ab+b?) d. (a-b)(a*+ab-b?)
13. The factor of x* — 5x + 6 are

a. X+1, x-6 C. X+6, x-1

b. X-2, x-3 d. X+2, x+3
14. Find m so that x* + 4x + m is a complete square:

a. 8 b. -8 c. 4 . 16
15. X*—16is = -

a. (X +4)(x?-4) c. (X% -4)(x*-4)

b. (X% +4)(x*+4) d. (x* +4)2
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Q. No. 2: Solve the following questions:
1) Define diagonal matrix.

: . 1 3

2) Find determinant B = [2 _2]
3) Find negative of a matrix: [_22 ﬂ

4) Simplify:3/—125

5) Evaluate: i*°

6) Simplify: (59)%/ (5%)°
Q. No. 3: Solve the following questions:

1) Find value of x log, 8 = g

2) Write into single logarithm: log21 + log 5
3) Write in scientific notation 0.00643

4) Reduce lowest form: 22+
2(x2-1)

5) Define rational expression:
6) If a+b = 10, a-b=6, then find value of  (a’+b?
Q. No. 4: Solve the following:
1) Write in simple form: /180
2) Simplify (3+v3)( 3-V3)
3) Use remainder theorem find remainder 4x3 — 4x + 3 is divided (2x-1)
4) Factorize: 128am? — 242an?
5) Factorize: x*-11x -42
6) Define mantissa

Q. No. 5(a): Use matrix find creamero’s rule. 2x+y=3, 6x+5y=1
(b): Use law of exponent to simplify 14
(81)™.35— (3)41 (243)

(92™)(33)

0.678%9.01

Q. No. 6(a): Use log table find value 14

) ) ) 0.0234
(b): Simplify: 2+ﬁ+ @_ﬁ+ = 14
Q. No. 7(a): Factorize(x+2)(x+3)(x+4)(x+5)-15 14

2+3i

14

(b): Simplify and write your answer in the form of a+bi:

4—i

14




